n

ol

>

HOME

21 20201007 22:11

Qs

& B8= 7|k}

TIA £0| @2} Of=I| 2

[ = LU

=L DIt 40| Oz} 04|

(IF=ZHSI|RhR2LH9=Z Olet stmm St

o| 22} otz

T WM &

=
=

M2k

| 1| Mg

ol
E|

ol

{0
ol

!

f

ot X[ o= &Mt

Cf.

IELHIE

Of=


http://www.kmaeil.com/
http://www.kmaeil.com/news/articleList.html?sc_section_code=S1N3

IS & =10 02 ZAEEH 2

49| 7|=

=

S| = CHE="O|

=4 Ho]229|

EF7 0 7|88

tHe

OfSHRAC}. 2k ZRYCE,

3

il

w3
=

=0| OJ2ie| HtE Ql'dS X[ SOtA[ote] RIFA|ZIS =

SHAH
=l

JEE

| OfOF SHLY.

a2
=

22 x|

= OF7|X| REZUCH 2t

&

&S K|

ol
{of

oj

A

=
10

71Xt



